Thursday, March 27, 2014 9:00 PM



Simplify the rational expression, if possible.

1.
$$\frac{3x-3}{6} = \frac{3(x-1)}{6}$$

= $\left| \underbrace{(x-1)}_{a} \right|$

2.
$$\frac{(x+7)(x+9)}{(x-9)(x+7)} = \frac{\chi+9}{\chi-9}$$

3.
$$\frac{x+2}{x^2-4x+4} = \underbrace{\frac{(\chi+2)}{(\chi-2\chi)}}_{(\chi-2\chi)}$$

4.
$$\frac{x^2 + 4x - 5}{x^2 - 25} = \frac{(\chi + 5)(\chi - 1)}{(\chi + 5)(\chi - 5)}$$
$$= \boxed{\frac{\chi - 1}{\chi - 5}}$$

5.
$$\frac{x^{2} + 4x}{x^{2} - 2x - 24} = \frac{X (X + 4)}{(X - 6)(X + 4)}$$
$$= \boxed{\frac{X}{X - 6}}$$

6.
$$\frac{x^2 + 10x - 11}{x^2 + 7x - 8} = \frac{(X + 11)(X + 1)}{(X + 8)(X - 1)}$$
$$= \boxed{\frac{X + 11}{X + 8}}$$

Multiply the expressions. Simplify the result.

7.
$$\frac{6x^3y}{xy^2} \cdot \frac{3x^2y}{8x^3} = \frac{48 \times 5y^2}{8 \times 5y^2}$$

= 9×4

9.
$$\frac{3x(x-2)}{(x+1)(x-6)} \cdot \frac{(x+1)}{210(x-2)(x-1)}$$

$$\overline{\mathcal{Q}(X-G)X-I} = \overline{\mathcal{Q}(\sqrt{2}-7\sqrt{+C_1})}$$

$$8. \frac{2}{5x^{9}} \frac{44x^{7}y^{4}}{5x^{9}} \cdot \frac{12x^{9}}{22x^{5}y^{3}} = \frac{24 \times \frac{3}{7}y^{4}y^{4}}{5 \times \frac{3}{7}y^{8}} = \frac{24 \times \frac{3}{7}y^{4}y^{4}}{5 \times \frac{3}{7}y^{8}} = \frac{24 \times \frac{3}{7}y^{4}}{5}$$

10.
$$\frac{x^{2} + 4x + 3}{x^{2} + 5x + 6} \cdot \frac{x^{2} - 3x - 10}{x^{2} + x}$$

$$(\underbrace{X + 3}(X + 1)) \cdot \underbrace{(X - 5}(X + 2))}_{(X + 3}(X + 2)) \cdot \underbrace{(X - 5}(X + 2))}_{(X + 1)}$$

 $\frac{\chi}{2(\chi-G)\chi-I)} = \frac{\chi}{2(\chi^2-7\chi+G)} \qquad \begin{array}{c} (\chi+3)(\chi+I) \\ (\chi+3)(\chi+2) \end{array} \cdot \frac{(\chi-5)(\chi+2)}{\chi(\chi+I)} \end{array}$ **12.** $\frac{x^3 - 9x}{x^2 + 6x + 9} \cdot \frac{x^3 + 3x^2}{x - 3}$ $=\frac{X}{2X^2-|4X+|2|}$ **11.** $\frac{x^2 - 9x + 20}{x^2 + 9x + 14} \cdot \frac{x^2 + 6x + 8}{x^2 - x - 20}$ (x-5)(x-4) (x+4)(x+2)(x+7)(x+2) (x-5)(x+4) $\frac{\chi(\chi^2 - 9)}{(\chi + 3)(\chi + 3)} \frac{\chi^2(\chi + 3)}{(\chi - 3)}$ $\left| \begin{array}{c} X-4 \\ \overline{X+7} \end{array} \right|$ $\frac{X(X+3(X-3), X^{2}(X+3)}{(X+3)(X+3)} = X^{3}$